VT LT 4—RER

SM6E3I[/178(R)
g 2 | K £ vl 4 > | b=%IL | HDCP | Hwub 7
& % BE OEF 41 42 83 14.4 68.6 300
EE TE it 38 41 79 9.0 70.0 200
33 KB BA 46 51 97 27.0 70.0 150
A1 =% A 46 47 93 22.5 70.5 100
541 F EX 43 37 80 9.0 71.0 90
613 BX E— 44 40 84 12.6 71.4
741 hiE B 41 43 84 11.7 72.3 75
813 Bk EZ 41 38 79 6.3 72.7
ofiz &k F5 43 39 82 9.0 73.0
104iL A <493 46 38 84 10.8 73.2 75
1143 =8 X 44 42 86 12.6 73.4
1241 BAR FH 40 43 83 9.0 74.0
13fiz INE  IERS 43 42 85 10.8 74.2
1441 i EH 42 44 86 11.7 74.3
154 B =80 40 41 81 6.3 74.7
164 R 1 45 45 90 15.3 74.7
174 M BRAER 42 41 83 8.1 74.9
18 A0 %= 42 41 83 8.1 74.9
194 AR REE 46 47 93 18.0 75.0
204z KA XRE 44 42 86 10.8 75.2 45
214 A R 43 43 86 10.8 75.2
22431 IS IE 46 42 88 12.6 75.4
23131 =L 43 45 88 12.6 75.4
2441 I sk 44 38 82 6.3 75.7
25 R B— 40 43 83 7.2 75.8
2641 e # 45 39 84 8.1 75.9
274 FE —F 44 40 84 8.1 75.9
281iz & IGfT 43 43 86 9.9 76.1
294z o FMF 46 45 91 13.5 775
301 R#E 84T 45 41 86 8.1 77.9 45
314 ha =X 44 42 86 8.1 77.9
321 Bk HH 44 43 87 9.0 78.0
334z AR KR 42 46 88 9.9 78.1




V=T LTA—RER

SM6E3I[/178(R)

g 2 | K £ vl 4 > | b=%IL | HDCP | Hwub 7
3441 FIEF MEH 42 41 83 4.5 78.5

3541 hiE & 44 42 86 7.2 78.8

361 % A 45 43 88 9.0 79.0

374 Fl RE 42 43 85 5.4 79.6

38fi B EA 45 44 89 9.0 80.0

391 AH BF 42 44 86 5.4 80.6

401z TR B—HB 45 45 90 9.0 81.0 45
4161 kB = 45 54 99 18.0 81.0

4241 A - 45 46 91 9.9 81.1

4341 wa FH 46 48 94 12.6 81.4

44431 BER F5E 47 42 89 7.2 81.8

4543 A & 49 42 91 8.1 82.9

46131 =K B 50 50 100 17.1 82.9

AT7HI MBE =T 57 60 117 315 85.5

A8fL X&E = 50 49 99 12.6 86.4

4941 2E 50 48 98 10.8 87.2

BBE FZE  ZRER 54 51 105 13.5 91.5 75
5111 RKAR EiA 53 49 102 9.0 93.0

N R TR FH

N R FH &A=

N R AR EH




